027352325158 1 08D

2015510 K 1 H (N) 2015 10 B 31 H (X)

R A WARUY
FIZNHIIR: PARX2
HDCPLFR: (%) 57.6 (X&) 57.6

NEAZ R EE ouT IN GROSS | HDCP | NET J[[=Ziva i EL ouT IN GROSS | HDCP | NET NEARZ R EL ouT IN GROSS | HDCP | NET
2 B [TH E 41 37 78! 9.6] 68.4| AE 61 | KB —X 48 43 91| 18.0| 73.0 12147 [fEER FAN 45 47 92| 18.0| 74.0
277 Bk A 43 39 82| 13.2] 68.8| AE 621 | K& —X 48 49 97| 24.0| 73.0 12247 [/ =75] 41 39 80| 6.0] 74.0
3L B REB 37 39 76| 7.2] 68.8| AE 63 &1 X 46 45 91| 18.0| 73.0 12347 (2R H— 50 48 98| 24.0| 74.0
441 [iniE BX 39 40 79! 9.6] 69.4| AE 641 | Xt5 TE—EB 40 39 79! 6.0] 73.0 12441 |&FHk &KX 44 42 86| 12.0] 74.0
57 [fEH —F 50 40 90| 20.4| 69.6| AE 657 ®BRRE RS 45 46 91| 18.0| 73.0 12541 [AA #RE 42 38 80| 6.0] 74.0
6L |LUE JEE 47 42 89| 19.2] 69.8 AE 66ML |[1FEE FIE 45 46 91| 18.0| 73.0 12647 [HF &= 47 45 92| 18.0| 74.0
7 IR SF 51 43 94| 24.0| 70.0| AE 671 |HHE AKX 48 43 91| 18.0| 73.0 12741 [FEE #FHI 46 46 92| 18.0| 74.0
8fiI |EM TEiT 47 41 88| 18.0] 70.0/ AE 68 MK EE 46 51 97| 24.0| 73.0 12847 [#E {HEH 52 46 98| 24.0| 74.0
9fiL | KK A 42 40 82| 12.0] 70.0/ AE 691 Al = 38 41 79! 6.0] 73.0 12941 [#BA 1E 45 46 91| 16.8| 74.2
1041 |EK E35 45 42 87| 16.8] 70.2| AE 70 /By 1E% 49 48 97| 24.0| 73.0 13047 [#&)I] =EB 51 52| 103| 28.8| 74.2
117 | RK¥y —=5 45 41 86| 15.6| 70.4 7141 |#2H Esh 44 46 90| 16.8| 73.2 13147 [#2]R" B 50 47 97| 22.8| 74.2
127 |[hE GE 46 46 92| 21.6| 70.4 720 {88 B 42 42 84| 10.8| 73.2 1327 [/Jvix Eh 42 43 85| 10.8| 74.2
13 |Bt8 1IE 37 37 74| 3.6| 70.4 7300 [AIrt B 51 45 96| 22.8| 73.2 13347 [fEA St 41 44 85| 10.8| 74.2
14461 | AM #RE 36 38 74! 3.6/ 70.4 7440 |pRHEH TR 43 41 84| 10.8| 73.2 13447 [FER & 50 41 91| 16.8| 74.2
1547 |ZFEE JE—ED 43 42 85| 14.4| 70.6 750 [EE 1BX 46 50 96| 22.8| 73.2 1354 [ J&EE 47 44 91| 16.8| 74.2
166 [FK 5 45 39 84| 13.2| 70.8 764 [#RZK Al 43 41 84| 10.8| 73.2 1364 KR &— 47 49 96| 21.6| 74.4
1740 &0 FES 43 45 88| 16.8| 71.2 7740 |LLEY & 39 45 84| 10.8| 73.2 13741 | K& B5—ER 48 48 96| 21.6| 74.4
1811 |[ZEkR FE 46 42 88| 16.8| 71.2 780 |EE EAX 42 42 84| 10.8| 73.2 13841 |4 EX 44 46 90| 15.6| 74.4
1947 |[=F #MF 46 47 93| 21.6| 71.4 79100 | =E WIE 52 50| 102| 28.8| 73.2 13941 |FFH IEsh 50 46 96| 21.6| 74.4
207 | SAF FH— 52 41 93| 21.6| 71.4 80 AR E=H 46 49 95| 21.6| 73.4 14047 |k 46 44 90| 15.6| 74.4
214 [B% 1IEA 40 40 80| 8.4| 71.6 8147 [IUA& <FIE 38 45 83| 9.6| 73.4 14147 |g1H mibdh 45 45 90| 15.6| 74.4
221 |EHE R— 38 36 74 2.4 71.6 82 |HEP &— 45 50 95| 21.6| 73.4 14241 |=% #F 52 50| 102| 27.6| 74.4
231U [BH 1IEA 45 40 85| 13.2| 71.8 834 [IUH FEsk 43 46 89| 15.6| 73.4 1434 |k &8 48 42 90| 15.6| 74.4
2400 |ElE 3% 45 46 91| 19.2| 71.8 84fu |HEY —= 40 37 77| 3.6/ 73.4 14440 |[ZEH &Em 52 50| 102| 27.6| 74.4
251 |BEIR — 43 41 84| 12.0| 72.0 8541 |[EEF = 46 43 89| 15.6| 73.4 14547 |[pRH =R 43 47 90| 15.6| 74.4
2601 BT ENE 43 41 84| 12.0| 72.0 86fi | AR 1 46 43 89| 15.6| 73.4 14641 |BA BRI 51 51| 102| 27.6| 74.4
274 [/I\EF AN 42 42 84| 12.0| 72.0 871 |miE JE—BB 46 37 83| 9.6| 73.4 14740 [{FH A 47 49 96| 21.6| 74.4
2841 A& IEA 41 49 90| 18.0| 72.0 88{i7 |hNEEY JHBEB 52 43 95| 21.6| 73.4 14841 |H%EE 1B8ET 48 48 96| 21.6| 74.4
294z |HIL #<z 47 37 84| 12.0) 72.0 897 |ATfE EKES 43 46 89| 15.6| 73.4 14941 |= FEB 52 56| 108| 33.6| 74.4
301 |HES &— 41 48 89| 16.8| 72.2 90 | I X 50 51| 101| 27.6| 73.4 15047 | KM 3k 44 46 90| 15.6| 74.4/ AE
314z [IUH Bfe 48 53| 101| 28.8| 72.2 911 |[FF = 43 46 89| 15.6| 73.4 15141 BA f#— 47 55| 102| 27.6| 74.4
324 | {8F] 41 42 83| 10.8| 72.2 92 |Aars F= 49 45 94| 20.4| 73.6 15247 |[BRE JXEB 50 51| 101| 26.4| 74.6
33U | TE &BE 44 45 89| 16.8| 72.2 93 |HO =& 42 46 88| 14.4| 73.6 15347 |HED &— 47 42 89| 14.4| 74.6
3441 [fEAAK @ 49 40 89| 16.8| 72.2 9447 |HE 1EBH 52 48| 100| 26.4| 73.6 15447 R —=5 42 47 89| 14.4| 74.6
3547 [IUA B 35 36 71| -1.2| 72.2 957 |BER FBE 48 46 94| 20.4| 73.6 15547 | KB &£H 50 45 95| 20.4| 74.6
364 |HIL &3¢ 45 56| 101| 28.8| 72.2 96fi Ak =E#| 49 45 94| 20.4| 73.6 15647 |f&IR £ 39 44 83| 8.4| 74.6
371 |gIH =i 41 41 82| 9.6| 72.4 97fu |mlF —=58 44 50 94| 20.4| 73.6 15747 [#ElG "HEH 44 39 83| 8.4| 74.6
38 |AEF B 47 41 88| 15.6| 72.4 98fy |BHE 18 42 40 82| 8.4| 73.6 15817 |&=H J&BH 42 41 83| 8.4| 74.6
394 [zl SAN 43 45 88| 15.6| 72.4 99y | iR 46 54| 100| 26.4| 73.6 15941 |=t& FHKER 43 46 89| 14.4| 74.6
4011 | T FH 47 47 94| 21.6| 72.4 100fi |=%F EX 50 56| 106| 32.4| 73.6| AE 1604 | FLIL —5% 42 47 89| 14.4| 74.6
4147 | Kl B2 48 52| 100| 27.6| 72.4 1014z |1V 5] 42 40 82| 8.4| 73.6 16147 |k &k 52 43 95| 20.4| 74.6
4240 |HE F— 53 53] 106| 33.6| 72.4 102/ |HP BFE 39 43 82| 8.4| 73.6 16214 |BE 8% 50 45 95| 20.4| 74.6
431 &K = 38 38 76| 3.6| 72.4 1031 |KE = 46 48 94| 20.4| 73.6 16341 |[FH %3 45 55| 100| 25.2| 74.8
444 Kk sl 41 41 82| 9.6| 72.4 1044 |MH FHE 44 38 82| 8.4| 73.6 16447 |[BEIR SH— 36 46 82| 7.2| 74.8
457 |)IIR & 37 39 76| 3.6| 72.4 10547 |&FRE #+F 44 44 88| 14.4| 73.6 16547 |&0 FHES 43 45 88| 13.2| 74.8
461 |=F T 40 41 81| 8.4| 72.6 106f1 |f&8H &8 54 46| 100| 26.4| 73.6 1667 HEF —=5 42 40 82| 7.2| 74.8
4740 |¥pEF Eah 41 46 87| 14.4| 72.6 1077 |[R¥F —=5 39 42 81| 7.2| 73.8 16741 BFE FEX 44 44 88| 13.2| 74.8
484U M BfE 41 40 81| 8.4 72.6 1084z | KIL 7% 41 46 87| 13.2| 73.8 1684 [IhA FEiE 47 47 94| 19.2| 74.8
4941 &8Il EF) 37 44 81| 8.4| 72.6 1091 |5RE¥y fES 43 44 87| 13.2| 73.8 1691 |18BE EiE 40 42 82| 7.2| 74.8
5061 | AAT #2E 42 39 81| 8.4 72.6| AE 11067 B =& 46 47 93] 19.2| 73.8 17041 [{BE 1558 49 51| 100| 25.2| 74.8
5147 | RF IEF 40 41 81| 8.4 72.6 11147 (B8 540 42 39 81| 7.2| 73.8 17144 | KR = 42 40 82| 7.2| 74.8
52 |&)Il IEE 46 46 92| 19.2| 72.8 112 |hEy S 47 40 87| 13.2| 73.8 1724 |6 =& 50 56| 106| 31.2| 74.8
531z [ILUE # 40 40 80| 7.2/ 72.8 113/ | HFRE B 47 46 93] 19.2| 73.8 17341 (#7210 2 44 44 88| 13.2| 74.8
5441 B F 49 49 98| 25.2| 72.8 11441 KF & 50 48 98| 24.0| 74.0 17441 |[SIE BA 44 44 88| 13.2| 74.8
551 |[A SitE 42 38 80| 7.2/ 72.8 11547 |*KHE #+ 57 53| 110| 36.0| 74.0 17541 bk IES 44 44 88| 13.2| 74.8
56fi1 |Iith J&E 51 47 98| 25.2| 72.8 1161 EME #H—EB 51 47 98| 24.0| 74.0 176fu BlR ExX5 48 46 94| 19.2| 74.8
5741 |[hH X4 41 39 80| 7.2| 72.8 11747 | Bk BEX 49 43 92| 18.0| 74.0 17740 [ AN #ZRE 37 39 76| 1.2| 74.8
581 |[fHH &X 44 47 91| 18.0| 73.0 118fu [ XKIg &% 45 41 86| 12.0| 74.0 1784 |{pH ZFF 47 47 94| 19.2| 74.8
591 |HE¥Y SPER 53 56| 109| 36.0| 73.0 119f1 | Kia FI& 50 42 92| 18.0| 74.0 1794 /PR 5 49 39 88| 13.2| 74.8
607 [XIE S 43 42 85| 12.0| 73.0 1201 |82 5t 53 45 98| 24.0| 74.0 1801 |ZwH ZH| 42 40 82| 7.2| 74.8
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IR WRUY
FIZNHIR: PARX 2

HDCPLEPR: (8) 57.6 (&) 57.6
[[[=Xiva R EL ouT IN | GROSS| HDCP | NET [[Yiva iy EA ouT IN | GROSS| HDCP | NET |[[=Yiva Y EA ouT IN | GROSS | HDCP | NET
1811 [BAT BXal 48| 46| 94| 19.2] 74.8 241f (25 18 43| 46| 89 13.2| 75.8 301471 |[#2H Bsh 49| 49| 98 21.6| 76.4
1821z [F9H #Hal 47 41 88| 13.2| 74.8 2424 KBy ME 46 43 89| 13.2| 75.8 3024 | R 7R 47 45 92| 15.6| 76.4
183 AR =A 47 46 93| 18.0| 75.0 2434 | ESE 44 45 89| 13.2| 75.8 3031y |K¥F BF 41 45 86| 9.6| 76.4
184Mi |l =5 44| 49, 93| 18.0] 75.0 244f1 |=lF RE 52| 49| 101] 25.2| 75.8 304f1 |EElR 3B 50/, 42| 92| 15.6| 76.4
185 [ST 5h 41 40 81/ 6.0] 75.0 245f1 2l = 52| 49| 101] 25.2| 75.8 30567 |[ARH & 55| 49| 104| 27.6| 76.4
186fi1 |HKEF —=5 40 41 81| 6.0| 75.0 2464 |EE HA 60 47| 107| 31.2| 75.8 306fi |[#r= FlIF 52 52| 104| 27.6| 76.4
1871 [Fa {&Ha] 45 42 87| 12.0] 75.0 24740 R = 51 44 95| 19.2| 75.8 30741 |=F i3 48 44 92| 15.6| 76.4
1881 [HIE & 45 48 93| 18.0| 75.0 2484 ED IERE 54 59| 113| 37.2| 75.8 3081 |#EH 5hF 49 43 92| 15.6| 76.4
1891 |[frfE =Wk 47| 46/ 93| 18.0] 75.0 249f |ILO B 46/ 49| 95 19.2| 75.8 30941 |FEE £ 49| 49| 98 21.6| 76.4
1901 |ERE 48 51 99| 24.0/ 75.0 250 |8 BER 48 59| 107| 31.2] 75.8| AE 310fu [Fim &_” 49 55| 104| 27.6| 76.4
1914y |=F ¥ 48 45 93| 18.0| 75.0 25147 |Ful #2F 47 48 95| 19.2| 75.8 3114 |=t5 ESk 45 47 92| 15.6| 76.4
1921 |=F #F 45| 48 93| 18.0] 75.0 2524 | =4 8% 45 50/ 95| 19.2] 75.8 31247 LUK ERd 48 56| 104| 27.6| 76.4
193fi [18 #hME 46| 47, 93| 18.0] 75.0 253 Mg = 44| 45| 89 13.2| 75.8 313f [IU'F B 56/ 48| 104| 27.6| 76.4
1944 [IBR Bf 44| 43 87| 12.0] 75.0 25411 |FEH HE 49| 46| 95 19.2| 75.8 31441 [fFRE 50/, 42| 92| 15.6| 76.4
1951 | —F =ik 41 40 81| 6.0| 75.0 25547 /)R —Jf 51 50| 101] 25.2| 75.8 31547 [IUAR ¥ 52 46 98| 21.6| 76.4
19647 iR F&i0 41 46 87| 12.0| 75.0 25641 | shF 48 52| 100| 24.0] 76.0 31641 |81y = 39 47 86| 9.6| 76.4
1974 [pOEE Z#E 45 42 87| 12.0| 75.0 2574 |fEH FE=E 55 45| 100] 24.0] 76.0 3174 |IIA ED 43 43 86| 9.6| 76.4
198f7 | EH BEA 43 44 87| 12.0] 75.0 25811 |EXK B 45 43 88| 12.0| 76.0 31841 A = 47 44 91| 14.4| 76.6
19947 iy =i 47 46 93| 18.0| 75.0 25941 |[REF —=5 42 46 88| 12.0| 76.0 3191 |5t 2 57 46| 103] 26.4| 76.6
2004z | (& 49 49 98] 22.8| 75.2| AE 26017 |[REF —=5 45 43 88| 12.0| 76.0 3201 [HBA IE 50 47 97| 20.4| 76.6
20147 |HER EB— 46 46 92| 16.8| 75.2 26147 i & 44 50 94| 18.0| 76.0 321U |EXk #& 47 44 91| 14.4| 76.6
202fi1 |LUA sk 46 40 86| 10.8| 75.2 26211 |ER % 51 43 94| 18.0| 76.0 3221 | Em 45 46 91| 14.4| 76.6
2031 |#h= & 50 48 98| 22.8| 75.2 26311 |fhkK A 45 49 94| 18.0| 76.0 323U | K1 BEE 38 41 79 2.4| 76.6
20447 (Bl E 44 48 92| 16.8| 75.2 26447 |/ 1R 48 52| 100| 24.0] 76.0 3244 |7TAd =E 43 48 91| 14.4| 76.6
20547 |HEF IEff 48 50 98| 22.8| 75.2 265 |LUAR = 46 48 94| 18.0| 76.0 325{1 |BEIR 8 48 49 97| 20.4| 76.6
206Mi [FER Jalf 47 45 92| 16.8| 75.2 26611 |EF BET 48 46 94| 18.0| 76.0 32641 |ZH S5 50 53| 103| 26.4| 76.6
2071 |#H 48 56| 104| 28.8| 75.2 2674 ED EkE 54 52| 106| 30.0/ 76.0 32741 [3%)11 X0BA 53 56| 109| 32.4| 76.6
208fi BN [Ez 41 44 85| 9.6/ 75.4 26811 |AfH EFA 48 46 94| 18.0| 76.0 328{u =l RE 44 47 91| 14.4| 76.6
2091 5% 5E 45 46 91| 15.6| 75.4 26941 /R 5h=E 50 56| 106| 30.0| 76.0 32941 |[=4T G 49 48 97| 20.4| 76.6
2101 [/ A 48 49 97| 21.6| 75.4 27041 |ElF FX 51 49| 100| 24.0| 76.0 3301 |ZIIl JEEZ 50 47 97| 20.4| 76.6
21147 [#8%F EH+ 52 51| 103| 27.6| 75.4 27141 [$1i8 Y 47 53| 100| 24.0| 76.0 33147 [jAJR shz 48 49 97| 20.4| 76.6
2121 |81l #E 47 44 91| 15.6| 75.4 27241 [¥pEB Eah 53 59| 112| 36.0| 76.0 3324 [iARE EEB 55 48| 103]| 26.4| 76.6
21301 MK FF 54 49| 103| 27.6| 75.4 27341 [FEE & 48 46 94| 18.0| 76.0 3337 |[AH IEA 47 44 91| 14.4| 76.6
2144 k2K B 50 47 97| 21.6| 75.4 274400 | KEE A 50 44 94| 18.0| 76.0 33441 |#H BB 51 52| 103| 26.4| 76.6
21540 |&H F— 47 50 97| 21.6| 75.4 27501 | REIII X 42 52 94| 18.0| 76.0 33541 |RkH Z==E 49 54| 103| 26.4| 76.6
21641 |HF AL 59 50| 109| 33.6| 75.4 27641 =k w5k 50 56| 106| 30.0| 76.0 336U |0 FESR 42 48 90| 13.2| 76.8
2174 [#sH EEe 43 42 85| 9.6| 75.4 27741 [AnH EEE 39 43 82| 6.0| 76.0 3374 [/IMRIR Fh— 52 50| 102| 25.2| 76.8
2181 |21l BK=] 43 48 91| 15.6| 75.4 27841 |#E FIF 41 41 82| 6.0| 76.0 3381 |[EEB # 45 51 96| 19.2| 76.8
2194 [ag AasE 48 49 97| 21.6| 75.4 27941 [IUF BE— 41 41 82| 6.0| 76.0 3391 i5k =F! 48 48 96| 19.2| 76.8
22047 (#0011 BEEH 57 58| 115| 39.6| 75.4 28017 SIS B 38 44 82| 6.0| 76.0 340471 /R BEAK 56 52| 108| 31.2| 76.8
22161 |58 BB 39 45 84| 8.4| 75.6 28141 @ IEA 42 45 87| 10.8| 76.2 34140 |BFE FEEP 55 53| 108| 31.2| 76.8
2221 |[EX #;FH 40 44 84| 8.4| 75.6 282U &K BFE 44 43 87| 10.8| 76.2 3421 BEF BEF 52 56| 108| 31.2| 76.8
2234 [ ESII #= 49 53] 102| 26.4| 75.6 2831 ||& iFkE 44 43 87| 10.8| 76.2 343 |Full #2F 55 47| 102| 25.2| 76.8
2244 |BIH ik 47 49 96| 20.4| 75.6 2844 |/ IEEFE 59 58| 117| 40.8| 76.2 3444 |ERE JE—EB 43 41 84| 7.2| 76.8
2254 I ZFEY¥ 47 49 96| 20.4| 75.6 285 EFE BETF 47 52 99| 22.8| 76.2 345 3K & 43 41 84| 7.2| 76.8
22641 |fatt fH— 50 52| 102| 26.4| 75.6 28611 (2B 1 48 51 99| 22.8| 76.2 34641 |=iFf BE— 51 51| 102| 25.2| 76.8
2274 |71l A 49 41 90| 14.4| 75.6 287{u |ZH &4 52 47 99| 22.8| 76.2 34741 [1TH F=iE 41 37 78 1.2| 76.8
2281 |pkH R 40 44 84| 8.4| 75.6 288fi |l 1EHP 56 49| 105| 28.8| 76.2 34841 |FEJR EBX 47 43 90| 13.2| 76.8
22940 |[=K &8 46 50 96| 20.4| 75.6 2891 |[#I& ¢ 50 49 99| 22.8| 76.2 3491 |F9H #El 41 43 84| 7.2| 76.8
2301 [ AAT B5E 44 46 90| 14.4| 75.6 29041 |&X F|IE 51 48 99| 22.8| 76.2 350Mi |EilF EE 52 50| 102| 25.2| 76.8| A=
2314 [#sHH EEE 39 45 84| 8.4| 75.6 29141 |)IIEB EH] 47 52 99| 22.8| 76.2 3514 | AKX = 55 40 95| 18.0| 77.0
2324 ;AR Bt 54 54| 108| 32.4| 75.6 2921y A& BAZE 47 46 93| 16.8| 76.2 3521 |BERE W= 46 49 95| 18.0| 77.0
2331 [Tk Kth 38 40 78| 2.4| 75.6 293fiu [/\E #etHF 51 48 99| 22.8| 76.2 35347 &8 RIS 46 49 95| 18.0| 77.0
23447 [Frl R 50 45 95| 19.2| 75.8 29441 |ERE HDE 49 50 99| 22.8| 76.2 3544 |IUF F— 38 45 83| 6.0 77.0
2354 |[HBA 1E 50 45 95| 19.2| 75.8 295y |HH E— 48 44 92| 15.6| 76.4 35541 |k BEX 49 58| 107| 30.0| 77.0
2364 |[BBA 1E 54 47| 101| 25.2| 75.8 2961 |EXK EFE 41 45 86| 9.6| 76.4 356fi palg Rt 51 44 95| 18.0| 77.0
2374 |[HEP &— 45 44 89| 13.2| 75.8 297U |FF B 48 50 98| 21.6| 76.4 357{ |—f4 = 50 57| 107| 30.0| 77.0
23841 |IR iEPE 53/ 48] 101] 25.2| 75.8 298fu |AH FX 41 45/ 86| 9.6 76.4 358fi |l & 55 52| 107| 30.0| 77.0
23941 |FElE ¥ 47| 48] 95| 19.2] 75.8 2991 | KB —X 44| 42| 86| 9.6| 76.4 3591 1B E2 49| 46| 95| 18.0| 77.0
24041 B8 HicT 48 53| 101] 25.2| 75.8 3001 |Awd & 46/ 46| 92| 15.6| 76.4| AE 360f1 |EE SEKER 48 53] 101] 24.0| 77.0
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2015510 K 1 H (N) 2015 10 B 31 H (X)

R A WARUY
FIZNHIIR: PARX2
HDCPLFR: (%) 57.6 (X&) 57.6

[[[=Xiva R EL ouT IN | GROSS| HDCP | NET [[Yiva iy EA ouT IN | GROSS| HDCP | NET |[[=Yiva Y EA ouT IN | GROSS | HDCP | NET
361f1 &% EH 51 50| 101] 24.0, 77.0 42147 |[&ah BF) 52 50/ 102| 24.0] 78.0 4811 MoKk BERE 54 55| 109| 30.0] 79.0
362 |17H Z=E 44| 39 83| 6.0] 77.0 42241 |14 EE 54 54| 108| 30.0] 78.0 48214 (LIl Bk 49| 48| 97 18.0] 79.0
3631 |[BH = 44| 45 89| 12.0] 77.0 42341 | KT & 53 55/ 108| 30.0] 78.0 4831 |k B}FE 42| 43 85| 6.0/ 79.0
36441 | ST 45 38 83| 6.0] 77.0 42447 |FEE R{E 46 50, 96| 18.0] 78.0 4844 |[FAH FE 54| 49| 103] 24.0/ 79.0
36547 |G & 62 51| 113] 36.0 77.0 4254 | KB =EZ 54, 48| 102] 24.0| 78.0 485fi [IUAR R— 50 53| 103| 24.0] 79.0
366fiI |28 BEES 46| 43 89| 12.0] 77.0 42647 |7} BXME 43| 47| 90 12.0] 78.0 4861 B R&E 56, 41 97| 18.0/ 79.0
36741 B8 HKE] 46| 48| 94| 16.8] 77.2 42747 [5%H HB— 44 58 102| 24.0] 78.0 4871 |¥H =B 55 54| 109| 30.0] 79.0
368fi1 MK BE 45| 43 88| 10.8| 77.2 428 B4 HE— 47 55| 102| 24.0] 78.0 4881 | X% BsE 47 50/ 97| 18.0] 79.0
3694 A& Z=Al 52| 48] 100 22.8| 77.2 4291 |B# =L 48 53| 101| 22.8] 78.2 4891 |{P4Z (=8B 58 51| 109| 30.0] 79.0
37047 LUK $ith 43| 45 88| 10.8| 77.2 4301z Bk FF 42| 41 83| 4.8 78.2 4901 |HEY 5 54| 43 97| 18.0/ 79.0
37141 |BtE 1IE 41 41 82| 4.8|77.2 431147 [HE &— 46| 43 89| 10.8| 78.2 4911 [=k Z=sh 55| 48] 103] 24.0/ 79.0
37261 [/NEF F0E 48 52| 100| 22.8| 77.2 43247 [FLE 54 53| 107| 28.8] 78.2 4921 [IRA BAIL 42| 49| 91 12.0] 79.0
3731 |F0H 55 49 51| 100| 22.8| 77.2 433f |ER B3 51 44| 95| 16.8) 78.2 4931 [Ja%F fE— 59| 62| 121]42.0/ 79.0
37441 |FE FE 50/ 49| 99 21.6| 77.4 43441 [ =— 57 50/ 107| 28.8] 78.2 49414 |BElR =5 48 55| 103| 24.0] 79.0
37541 |EHHEP i 47 52 99| 21.6| 77.4 4357 EE X 50 51| 101| 22.8| 78.2 4954 |y Jo 50 52| 102| 22.8| 79.2
37641 |2 IEMh 52 47 99| 21.6| 77.4 436f1 B BEiA 45 50 95| 16.8| 78.2 496fi |Fll IEE 48 54| 102| 22.8| 79.2
3774 | B JtF 57 54| 111| 33.6| 77.4 43741 B F— 47 48 95| 16.8| 78.2 49741 |[{EAAR MHE 48 48 96| 16.8| 79.2
378fi |BIH ik 46 47 93| 15.6| 77.4 43841 | AT B 50 45 95| 16.8| 78.2 49841 [/BE BE— 54 54| 108| 28.8| 79.2
3791 [hNEE ZEicTF 56 49| 105| 27.6| 77.4 4391 | K<F FiT 59 54| 113| 34.8| 78.2 49947 |JZH | 55 47| 102| 22.8| 79.2
3801 |BEHH ¥1— 45 42 87| 9.6/ 77.4 44047 |FE[R FHh— 44 44 88| 9.6| 78.4 5001 ALl EEF 56 52| 108| 28.8| 79.2| AE
381f1 R =EH 50 49 99| 21.6| 77.4 44141 | K8 —& 52 48| 100| 21.6| 78.4 5014 |ZHE % 58 62| 120 40.8| 79.2
38241 [f@K Lo 46 59| 105| 27.6| 77.4 44217 |FE[R 13 49 51| 100| 21.6| 78.4 5021 Mk EE 54 54| 108| 28.8| 79.2
3831 |t F 52 53| 105| 27.6| 77.4 44341 R & 55 51| 106| 27.6| 78.4 50311 |[EEB #F 45 45 90| 10.8| 79.2
3844 [ FEA 47 46 93| 15.6| 77.4 44441 |HE FIF 50 56| 106| 27.6| 78.4 50441 | KRiIx IE1T 53 61| 114 34.8] 79.2
38541 |=tE Edk 52 47 99| 21.6| 77.4 44541 [HEE (E 46 54| 100| 21.6| 78.4 5051 |EE 1& 52 50| 102| 22.8| 79.2
386f |EFEE SE—EB 41 46 87| 9.6/ 77.4 44641 |57 EL 47 47 94| 15.6| 78.4 50647 | EEF 50 58| 108| 28.8| 79.2
38741 |21 E=] 44 43 87| 9.6/ 77.4 44761 [ME EFIL 52 48| 100| 21.6| 78.4 50741 =K =+ 51 45 96| 16.8| 79.2
388f1 |21l E=] 47 46 93| 15.6| 77.4 44841 XK B 47 47 94| 15.6| 78.4 5081 |EF tHEF 56 52| 108| 28.8| 79.2
38941 |[HH £z 48 57| 105| 27.6| 77.4 44941 & IEE 43 39 82| 3.6| 78.4 50947 |[#hF E&EF 52 44 96| 16.8| 79.2
39041 |[AEFH I 55 50| 105| 27.6| 77.4 45011 |BHA BEE 50 55| 105]| 26.4| 78.6| A2 510 |&EAK & 59 49| 108| 28.8| 79.2
3914 &Lk B 51 54| 105| 27.6| 77.4 45141 | ZER @ 55 56| 111| 32.4| 78.6 51147 [fER & 45 45 90| 10.8| 79.2
3921 [#f 5hF 56 54| 110| 32.4| 77.6 4521 |t SPHH 46 47 93| 14.4| 78.6 51247 |EH #Hh— 48 54| 102| 22.8| 79.2
393Mu [IUAR HE 44 60| 104| 26.4| 77.6 45311 = #EX 52 47 99| 20.4| 78.6 513U |%E &R 51 45 96| 16.8| 79.2
3944 |[H=E%F SR 45 53 98| 20.4| 77.6 454471 1O EE 45 54 99| 20.4| 78.6 51441 [BAA [EE 53 54| 107| 27.6| 79.4
395Mi |ZHE 7% 55 55| 110| 32.4| 77.6 455 |=F 48 57| 105| 26.4| 78.6 51541 | BT 58 55| 113] 33.6| 79.4
396{i |BEIR 5 54 50| 104| 26.4| 77.6 456fu At E 1ERR 55 44 99| 20.4| 78.6 5161 [#h= & 59 54| 113| 33.6| 79.4
39741 B #EE 49 43 92| 14.4| 77.6 4574 |HE F— 62 49| 111| 32.4| 78.6 5174 &R F KF 49 46 95| 15.6| 79.4
3981 |=F |71 43 49 92| 14.4| 77.6 4587 2L LT 48 51 99| 20.4| 78.6 518(u |28 #3 59 48| 107| 27.6| 79.4
3994 A28 18 49 49 98| 20.4| 77.6 45947 |thifk &L 51 48 99| 20.4| 78.6 5191y iFH &R 57 50| 107| 27.6| 79.4
4001 |RR =1E 49 49 98] 20.4| 77.6| AE 46017 |HH ZBE 57 54| 111] 32.4| 78.6 5201 |P3k EA 53 60| 113| 33.6| 79.4
40141 AR #iX 55 55| 110| 32.4| 77.6 46141 BRE HEX 49 50 99| 20.4| 78.6 52147 |&HIL jER 50 51| 101] 21.6| 79.4
40211 |5 BEE 41 45 86| 8.4| 77.6 462fi |ET i 53 45 98| 19.2| 78.8 5221 | K¥F &EX 48 52| 100| 20.4| 79.6
403fz | —EB 55 49| 104| 26.4| 77.6 4631 |[#E% shF 53 51| 104| 25.2| 78.8 523{i |[/JVolJR @5k 52 48| 100| 20.4| 79.6
40441 |B¥AY K5 49 49 98| 20.4| 77.6 46441 |MVHE FEX 51 53| 104| 25.2| 78.8 52447 |HE ®|X 53 53| 106| 26.4| 79.6
4051 |ZH 5B 56/ 60| 116| 38.4| 77.6 465f1 EE 49 49| 98| 19.2| 78.8 525 | £l 50 50| 100| 20.4| 79.6
40641 [#2K A 54 56| 110| 32.4| 77.6 46641 [EID F5 49 55| 104| 25.2| 78.8 526fi |7~E R 60 46| 106| 26.4| 79.6
40741 |=F 1EX 59 51| 110| 32.4| 77.6 46761 Mk & 51 53] 104| 25.2| 78.8 5271 |BIR FiE 49 45 94| 14.4| 79.6
408f1 [BBA B 58 52| 110| 32.4| 77.6 468fi [#1FE B A 53 51| 104| 25.2| 78.8 528fi |l 5% 63 55| 118| 38.4| 79.6
40941 |=t8 FE 56 48| 104| 26.4| 77.6 469fL |FY/II iEF 60 50| 110| 31.2| 78.8 52941 |¥EiR BB— 60 52| 112| 32.4| 79.6
410461 |18BE L—EB 44 54 98| 20.4| 77.6 4700 [F8 X 43 49 92| 13.2| 78.8 530 BT =@ 56 56| 112| 32.4| 79.6
411471 IR SEE 51 53| 104| 26.4| 77.6 47141 [#RHE FMRE 48 44 92| 13.2| 78.8 5314 | AfE &fE 55 56| 111] 31.2| 79.8
41241 B 58 47 44 91| 13.2| 77.8 4721 G ZEE 59 51| 110| 31.2| 78.8 5321 |FF G 49 50 99| 19.2| 79.8
41341 |BEH EEE 51 46 97| 19.2| 77.8 4731 |BIR =T 48 50 98| 19.2| 78.8 5331 B F— 53 52| 105| 25.2| 79.8
41441 K3 FE 46 51 97| 19.2| 77.8 4744 |EH 5% 58 52| 110| 31.2| 78.8 53441 |=F i1 45 54 99| 19.2| 79.8
41561 JBH A 49 42 91| 13.2| 77.8 47561 AH —%F 49 49 98| 19.2| 78.8 535 HR B= 48 45 93| 13.2| 79.8
416z EO EF 50 53| 103] 25.2| 77.8 47641 [Ful #2F 53] 45| 98| 19.2] 78.8 536 BE _ 48| 45 93| 13.2| 79.8
4174 |FEIR B8 48 54| 102] 24.0| 78.0 47760 1T &iE 51 53] 104| 25.2| 78.8 53741 [{kRE FEIR 51 48 99| 19.2] 79.8
4181 [/ TR 52 50/ 102] 24.0| 78.0 47841 |EIL ={_ 52| 46| 98| 19.2] 78.8 538 |&ZE f#T 49 55| 104| 24.0| 80.0
4191 |5 i5BE 47| 49/ 96| 18.0] 78.0 47961 HIH Bk 52| 46| 98| 19.2] 78.8 5391 |=% & 54 56| 110| 30.0/ 80.0
4201 /MR BEFI 46| 44/ 90| 12.0] 78.0 480 AR F 47 51 98| 19.2| 78.8 54041 Dt FHiT 53 51| 104| 24.0| 80.0
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[[[=Xiva R EL ouT IN | GROSS| HDCP | NET [[Yiva iy EA ouT IN | GROSS| HDCP | NET |[[=Yiva Y EA ouT IN | GROSS | HDCP | NET
54141 |BEBIR 3B 49| 49, 98| 18.0] 80.0 601f1 [ R&/I M= 48| 49/ 97| 15.6] 81.4 66141 |RH E— 53 55| 108| 24.0] 84.0
5421 | EA 50 54| 104| 24.0, 80.0 602fi [ERE HiF 60| 61 121]| 39.6| 81.4 66211 |GlE BE 60 54| 114| 30.0] 84.0
543f1 ||RH = 55 55/ 110] 30.0| 80.0 60311 |FNE B 46 51 97| 15.6| 81.4 663fiI |58 BX 65 61| 126 42.0] 84.0
54441 k@ fEs] 58 64| 122| 42.0] 80.0 60411 ER EE 62 52| 114| 32.4| 81.6 66441 |EXR Xk 54 53| 107| 22.8| 84.2
5454 )M 1BEE 58 52| 110] 30.0/ 80.0 6051 |[ME FH 43| 47| 90, 8.4| 81.6 66547 |ALL 1F5A 54 53| 107| 22.8| 84.2
546f1 % B 48 61/ 109| 28.8] 80.2 606 FLL S5 50 58 108| 26.4| 81.6 66641 |EfH# & 59 59| 118| 33.6| 84.4
54741 |EE 5 43| 48 91| 10.8] 80.2 607fi |#k /INRT 63 57| 120| 38.4| 81.6 6671 RIS hFE 61 57| 118| 33.6| 84.4
5481 EE FEX 50 53| 103] 22.8| 80.2 6081 | Kt& 54 54| 108| 26.4| 81.6 66811 |HiE BEE 56/ 62| 118| 33.6| 84.4
54941 HIF & 53| 44| 97 16.8] 80.2 6091l |=1i8 FE 57 56/ 113]| 31.2] 81.8 6694 |LUF E=F 60 58| 118| 33.6| 84.4
550Mi1 |HIH 2 58 51| 109] 28.8] 80.2| AE 610fi |ffk ET 56 57| 113]| 31.2] 81.8 67041 |{CH®l %K= 63 55| 118| 33.6| 84.4
5511 KRB &% 52 57| 109] 28.8| 80.2 61147 /¥ HBicT 57 56/ 113]| 31.2] 81.8 67141 |5k 1IF= 58 59| 117| 32.4| 84.6
552fi1 |AZK HA 55 54| 109| 28.8| 80.2 612f =l B 52/ 49| 101] 19.2| 81.8 67211 |f8H £F— 59 58| 117| 32.4| 84.6
553fi1 |[ARM FEXK 61 48| 109 28.8| 80.2 613f [FEI I 53 60| 113 31.2| 81.8 673f1 =B K& 62| 61| 123| 38.4| 84.6
55441 | K8 FE 58 51| 109] 28.8| 80.2 6141 1B {HKER 63 62| 125 43.2| 81.8 67441 |EH 13 51 53| 104| 19.2] 84.8
55511 |JIIE M2 44 53 97| 16.8| 80.2 615 |HE ZHiE 52 43 95| 13.2| 81.8 675U B FEA 45 59| 104| 19.2| 84.8
55641 |#ukE B4 62 59| 121] 40.8] 80.2 61647 |BEH & 54 52| 106| 24.0| 82.0 6764 |FH FE=z 54 56| 110| 25.2| 84.8
55741 | HE 5 52 50/ 102] 21.6| 80.4 6174 | {—— 59 53] 112] 30.0| 82.0 6771 =3 1T 52 58| 110| 25.2| 84.8
558fi1 |HHE K=& 53 49| 102| 21.6| 80.4 61811 |&EH ZEE 49 51| 100| 18.0| 82.0 6784 |/l BE 51 52| 103] 18.0| 85.0
559Mi | Rt& —X 48 48 96| 15.6| 80.4 6191 |HfE &HA 52 54| 106| 24.0| 82.0 6791 |EHH IS 56 53] 109]| 24.0| 85.0
5601 |SFE s5hi& 57 57| 114| 33.6| 80.4 6201 |BER [HT 49 51| 100| 18.0| 82.0 68011 | KLl EvEq 61 66| 127| 42.0| 85.0
561471 |J\BiRk {&5] 50 46 96| 15.6| 80.4 6211 |[HHE EX 51 55| 106| 24.0| 82.0 6811 [IZFA FIFH 60 60| 120/ 34.8| 85.2
562Mi /Il E x& 54 54| 108| 27.6| 80.4 6221 [EER 1THE 54 52| 106| 24.0| 82.0 68211 |[& =i 61 59| 120| 34.8| 85.2
5631 |&HH X— 55 53| 108] 27.6| 80.4 62317 |l 1EkE 55 51| 106| 24.0| 82.0 68311 |FHfE 5 55 59| 114| 28.8| 85.2
5644 i FiE 54 53| 107]| 26.4| 80.6 62441 AR &= 48 52| 100| 18.0| 82.0 6844 |TE FlE 59 54| 113| 27.6| 85.4
5654 /MR 3754 57 50/ 107| 26.4| 80.6 62541 |FEE &t 56 49| 105| 22.8| 82.2 685 | K2 NUL\TF 60 65| 125/ 39.6| 85.4
566fi1 & #E5 54 53| 107] 26.4| 80.6 62611 |54 FNHE 46 47 93| 10.8| 82.2 686ML |[hH JF— 53 54| 107| 21.6| 85.4
56714 |2l 1EfR 52 55| 107] 26.4| 80.6 62741 |KIE HBAES 57 48| 105| 22.8| 82.2 6871 |Hhp {HX 53 53] 106| 20.4| 85.6
568 [JAIR sh<z 42 53 95| 14.4| 80.6 628fi OB AKX 56 60| 116/ 33.6| 82.4 688M7 |[1ZE ZEHiC 60 64| 124| 38.4| 85.6
5691 [FHh I 56 51 107| 26.4| 80.6 62917 {8l AA%E 49 55| 104| 21.6| 82.4 689MI |HHE Ll 58 54| 112| 26.4| 85.6
57041 |[MaE Fh 44 45 89| 8.4| 80.6 6301 &0 &RT 64 58| 122| 39.6| 82.4 690fi7 |A7_E IEBEH 57 66| 123| 37.2| 85.8
57141 ||& 1E 62 51 113| 32.4| 80.6 6311Mu |t#&EH 8 50 53| 103| 20.4| 82.6 69141 [ KFE 12 60 44| 104| 18.0] 86.0
57241 [B@BA BA 53 48| 101| 20.4| 80.6 6321 | EEX 56 59| 115| 32.4| 82.6 6921 |&ElF fB& 60 68| 128| 42.0| 86.0
573 [ILFE PESE 58 55| 113| 32.4| 80.6 6334 |=lF RT 64 63| 127| 44.4| 82.6 6931 STk % 58 58| 116| 30.0| 86.0
57441 |RH 8iE 58 49| 107| 26.4| 80.6 63441 |‘FE BE 52 56| 108| 25.2| 82.8 69441 1B Bz 72 61| 133| 46.8| 86.2
575 |[H=E%F SR 42 58| 100| 19.2| 80.8 63511 |JEH SEZ 50 58| 108| 25.2| 82.8 6951 | ke EE 54 67| 121| 34.8| 86.2
576{i |FHt F— 50 50/ 100| 19.2| 80.8 63641 |[EFF [E<z 61 59| 120| 37.2| 82.8 69611 |&=B #HEl 70 50| 120| 33.6| 86.4
57741 Rl BT 51 49| 100| 19.2] 80.8 63741 |E|l 2 60 60| 120| 37.2| 82.8 69741 [t =15 59 55| 114| 27.6| 86.4
578{i | AtE 8= 52 54| 106| 25.2| 80.8 6381y |fRH #— 67 59| 126| 43.2| 82.8 69841 [AlE ERtl 48 60| 108| 21.6| 86.4
57941 |dtE 1&— 62 56| 118| 37.2| 80.8 639111 |{EAAR 5hE 54 54| 108| 25.2| 82.8 6997 |EH B 64 62| 126| 39.6| 86.4
580Mz @ 18& 55 51 106]| 25.2| 80.8 6401 |FEH BAE 47 48 95| 12.0| 83.0 70047 [3IB BE— 57 62| 119]| 32.4| 86.6| A8
5811 |E# &R/ 60 52| 112] 31.2| 80.8 6411 |FiE B2 62 68| 130| 46.8| 83.2 70141 |%REF SEF 63 62| 125| 38.4| 86.6
58211 |FxH #bF 53 52| 105] 24.0| 81.0 64241 |=F —IE 63 55| 118| 34.8| 83.2 70211 | —EB 60 58| 118| 31.2| 86.8
583fi |[f&&K HEF 55 50/ 105] 24.0| 81.0 6431 RN IE 61 57| 118| 34.8| 83.2 7031 | RH0#E SE—EB 53 59| 112| 25.2| 86.8
584fi AR FH— 60 57| 117]| 36.0| 81.0 64441 |F 15 63 61| 124| 40.8| 83.2 7044 B2 &HiT 66 63| 129| 42.0| 87.0
5851 |BEmg ANIY 56/ 49| 105| 24.0| 81.0 6451 | EXREB 55 50| 105| 21.6| 83.4 705 |S¥5> FA 54 57| 111]| 24.0| 87.0
586{i |PIE AET 52 53] 105] 24.0| 81.0 64641 |8 FX 66 51 117| 33.6| 83.4 706fi AR Jti 59 52| 111] 24.0| 87.0
5874 |*NIF RHA 44| 49/ 93] 12.0] 81.0 64741 |=E ERf 64 59| 123] 39.6| 83.4 7074 M| BE— 52 53] 105| 18.0| 87.0
588{ir [LLlE E— 61 56/ 117] 36.0] 81.0 64814 | KlIF B5—EB 55| 61| 116 32.4| 83.6 708 |[SH EBEF 69 59| 128| 40.8| 87.2
589{i | = 48 57| 105| 24.0| 81.0 649 |KFE WEHT 71 51| 122| 38.4| 83.6 7091 | KfE S5 66 68| 134| 46.8| 87.2
590 |IUF BB 59 58 117] 36.0] 81.0 650fiu =\l B 57 53] 110] 26.4] 83.6 AE 7101 /WK <F 57| 64| 121| 33.6| 87.4
5914 [#aAK 1E 54 56/ 110| 28.8| 81.2 6511 |fHiBE shz 58 64| 122| 38.4| 83.6 71140 /MG #2X 71 62| 133| 45.6| 87.4
5921 Bk E& 49 55| 104| 22.8| 81.2 65217 |31 THEE 52 58| 110| 26.4| 83.6 71247 WA S 55 60| 115| 27.6| 87.4
5934 [hIl 5hE 50 54| 104| 22.8| 81.2 6531 | &l = 62 66| 128| 44.4| 83.6 713{u |l S&E 65 54| 119| 31.2| 87.8
59441 |7 EEE 48 50/ 98] 16.8] 81.2 65447 [ILO BT 64| 63 127| 43.2| 83.8 7144 |&=H A 62| 69| 131]43.2| 87.8
595Mi |[H=E%y SR 46 52| 98] 16.8] 81.2 655Mi [ZH FF 61 66| 127| 43.2] 83.8 715( | K& BE 65 53] 118] 30.0| 88.0
596{i |mIH =it 51 47| 98| 16.8] 81.2 656f7 |FIS ¥ 60 55| 115| 31.2| 83.8 7164 |#H 1z 59 59| 118| 30.0| 88.0
5974 |HE &4 51 53| 104| 22.8| 81.2 65741 [#5A F# 56 53] 109| 25.2| 83.8 71741 & 18X 63 61| 124 36.0] 88.0
598fi | AT — 60 50/ 110| 28.8| 81.2 6581 |FE EE 52 57| 109| 25.2| 83.8 7181 BT =¥ 68| 65| 133] 44.4| 88.6
59947 |HIL &3] 57 53| 110| 28.8| 81.2 659fu |[EH 85X 50 52| 102| 18.0| 84.0 71941 Dt 8k 60 55| 115| 26.4| 88.6
60017 |JbAT FEIE 53 56| 109| 27.6] 81.4| AE 6601 A 8K 64| 62| 126] 42.0] 84.0 72047 (M0 1EEE 52| 63| 115| 26.4| 88.6
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S5 WARYY
FIZXHIBR: PARXZ2
HDCPLEPR: (8) 57.6 (&) 57.6
[[[=Xiva R EL ouT IN | GROSS| HDCP | NET | [[Yiva ‘ iy EA ‘ ouT ‘ IN ‘GROSS‘ HDCP‘ NET ‘ | | |[[=Yiva ‘ Y EA ‘ ouT ‘ IN ‘GROSS‘ HDCP‘ NET ‘
72141 3L 1E5] 57 63| 120| 31.2] 88.8
7221 VB JEE 67 64| 131| 42.0] 89.0
72301 |=ElE B 59 59| 118] 28.8| 89.2
72441 LT 4KEA 58| 48| 106 16.8] 89.2
72541 =B B 67 62| 129| 39.6] 89.4
7261 XIE BF 61 61| 122| 32.4] 89.6
72761 Bl RF 66 56| 122| 32.4| 89.6
7281 |=ETF £2 62 60| 122| 32.4| 89.6
72941 LU #HsE 65 62| 127| 37.2] 89.8
73041 [/MNEF RA 62 65| 127| 37.2] 89.8
73144 |[=F FEA 68 58| 126] 36.0/ 90.0
7321 | & Sl 61 66| 127| 36.0] 91.0
73361 |EXK 5 66/ 67| 133] 42.0/ 91.0
73441 |LUE <F 52 66| 118| 26.4] 91.6
73541 |LTAE dEfcF 62 73| 135| 43.2| 91.8
7364 = FF 60 65| 125| 32.4| 92.6
73761 | SF B 59 66| 125| 32.4| 92.6
7381 [/\bk Z=E] 65 64| 129| 36.0/ 93.0
7394 [IUAR gt 65 60| 125| 30.0/ 95.0
7401 4@ ZRAEB 71 62| 133| 37.2| 95.8
74140 [BEH B 70 73| 143| 46.8| 96.2
74241 |)IT KBh 68 76| 144| 46.8| 97.2
74311 |5 E 76 68| 144| 46.8| 97.2
74440 [FZ1l0 =EE 80 66| 146| 46.8| 99.2
7454 Bt BT 81 72| 153| 52.8| ##+#
74641 )l E BS 74 72| 146| 45.6| ### | A8 (BB)
74761 LUK 5= 73 73] 146] 45.6| ### | AE (BM)
P-5 BEA Y Y —REE




